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Certain number of persons are sitting in a row facing north direction . Each of them live in a different state
,but not more than 22. Three person sit between P and S. R sits fifth to the right of Q. The person who lives
in Assam sits fourth to the right of P. Q sits to the immediate left of the person who lives in Rajasthan. S sits
seventh from the extreme left end. The person who lives in Rajasthan sits sixth to the right of the person
who lives in Assam. R lives in Punjab. The person who lives in Rajasthan sits seventh to the left of the person
who lives in Haryana.
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inimum how many persons are sitting in a row ?
— = —

Q. How many persons sits to the left of P ?\&

@I_fthe person from Haryana sits second fragq the right end
then I_m/wm_a_ny_p.e_mm:ns-si-t-s-i-n-the row ?‘

(Q.)S belongs to which state ? Fy¢w-
@ ow many person sits between Rajasthan-and Haryana ?@ @
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not more than 22.(Three person sit between P and S, R sits fifth to the rlght of Q. The person who lives in Assam
sits fourth to the right of P. Q sits to the immediate left of the person_who lives in Rajasthan. S sits seventh from
the extreme left end. The person who Ilves in Rajasthan sits sixth to _the right of the person who lives in Assam.
(I_\lln__person sit between the person who lives in_Assam and R who lives in Punjab. The person who lives in

Rajasthan sits seventh to the left of the person who lives.i Haryana o m
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Certain number of&ersons are sitting in a row facing north direction . Each of them live in a different state ,but




P A Q(23) means P is 26 m in south on@ PrQ(23)&T 3T & PQF a'fa‘-‘rur H 26 Hex gl

P&Q(27)meansP|522mmeaston@ P&Q(27)F 3 g P QF T4 2 2 #Hex gl
P#Q(Zl) means P is 18 m in north of P#Q(21)FT 31T & P,Q% # 18 #Hex g1
+Q(24) meansP|528m|nweston P*Q(24)FT 1T & P QH Qﬁ%l'ﬂ' 7 28 #Hex 21
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What is the shortest distance between W and S and what is the position of W with respectto S ?
W3R sF fiT ga@ a1 gft F1 § 3R sF weast H wEH TUS FAT 37
A -8 m, north
B-12 m, north
/13 m, northeast
D - 16 m, northwest
E — None of these

What is the position of V with respectto P2
& Hegdl H VHT TU 4T g2

A — North east
#~Z South west
C - North

D — west
E — None of these



llTa person walks 30 m towards south from Y and then takes a right turn of 25 m, then what is the position of R
with respect to that person ?
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A — South
B — West
% South west

D — North west
E — None of these

If Slya walks 18 m towards west from point S and then takes a left turn of 6 m, then what is the distance between
Siya and point V ?

I BT g A aRmA A IR 18 AT aa IR AR 6 AT aw Az ¢, A RI IR g v &
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A to H are members of a three generation family in which there are three married couples.Either both or
none of the parents are aIiveﬁs father is the brother of E, who is the only daughter of D. F’s husband is
the son of B’s brother. A is t

sisters in law of each other.
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@How many persons are there in the second generation ?
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Q. How is G related to D? SO"\
Q. How |s Crelated to F ? Mo n—)*""')

e father of B, who is the brother inﬁw of F’s mother in law. C and E are




Chlch of the following conclusion does not follow: A=if@a & & g ar Fsey W o_-lﬁ

T &
Statements:
CAII whatsapp are instagram FUT-
(Onlyafewmstagram are facebook Q:I'ﬁﬂ' C‘élc',{-lk’\-l $~{-CI¢IIH a.
Conclusions: Hael $S STCHTH HATH &
@ Some whatsapp can be facebook T¥4&
@ No whatsappl is facebook XXX IGACAK
= FO CEICHTT hagsh & Tehel &
A-Only | FIE AT ‘-I')Hdch el &
= Only I
C - Both
D — None

E — None of these




Which of the following conclusion does not follow:

e

Statements:
Only a few apple are mango
No mango is guava
Conclusions:
No guava is apple XA
Some apple can be guava T

D — None
E — None of these
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@hich of the following conclusion does not follow:

Statements:
Sl
Few winter are summer
summer are spring , R/ SP auS
- — ° % .
No rainy is winter “INo SP [ ——
-
Few ice are rainy
Only a few fog are winter
onclusions:
l.) Some summer are not rainy’V“‘L
(I)  No fog is rainy XX»*

@ Some ice can never be summer 50"( '“"l' (Jf#)
— %X

A —Only |

B—Only Il

c - Botr g@@y
D — None

%None of these
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Which of the following conclusion does not follow: TIFATIT@d H & el &T IR HAHIUT sTel

- * < LT &

Statements: ‘

Only apple are mango (E") Mis -- j) Yo

Some apple are orange el Ad ATH &

Only a few orange are pineapple ;)W a9 W 2 .
Few pineapple are kiwi cdel S HA 3-|<:-|!<:-|IH g
S A HIdT 8

— S I AT AL
Conclusions:
‘h Some apple are not kiwi '(‘*( IGACF
'/I.! Some pineapple are not apple’(""Q PO 89 $IdT AT &

M.) Some orange can never be kiwi Teal DS AT A o_-lﬁ' %"
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A-Only |
B —Only Il @
C—-Both
47~ None

E — None of these
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Q. In which year A was born and which colour he likes ? W

Q. Who likes silver colour ?

Q. Who likes green colour ?

Q. Who was born in 1999 ?

Q. B likes which colour ?
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A, B, C,D,E, F G andH likes different colours namely Maroon, Silver, Pink, Green, Red, Orange, Brown and
Black, not necessarily in the same order. Each of them were born in different years 1978, 1980, 1984,
1987, 1993, 1995, 1999 and 2003, not necessarily in the same order. The one who like brown colour does
not born immediately before or immediately after the one who like silver colour and also does not born
before the one who like pink colour. B is the eldest person and the one who like green colour does not
born in a leap year. E likes either black or brown colour. The one who like red colour born before the one
who like green colour. H born in a leap year but not after A and D. A and F does not like red colour. Neither
G nor F likes green colour. Neither G nor C likes brown colour. C does not born immediately before the one
who like silver colour nor black colour. G does not like pink colour and H does not like red colour. The one
who like silver colour born in 1993. Only two person born between the one who like silver colour and D,
who like orange colour. E neither likes brown colour nor red colour. Number of person born before D is
equal to the number of person born after the one who like maroon colour. The one who like pink colour
born in a leap year and immediately before E. C born before H.

Q. In which year A was born and which colour he likes ? ]‘555', Ckuv’\

Q. Who likes silver colour ?

Q. Who likes green colour ? [

Q. Who was born in 1999 ?

. B likes which colour ?
Q Maveown



A, B, C, D, E, F, G and H likes different colours namely Maroon, Silver, Pink, Green, Red, Orange, Brown and Black, not necessarily in the same
order. @ch of them were born in different years 1978, 1980, 1984, 1987, 1993, 1995, 1999 and 2003, not necessarily in the same order. E\_e
one who like brown colour does not born |mmed|ately before or immediately after the one who like silver colour and also does not born
before the one who like pink colour. B i B is the eldest person and the one who like green colour does not born in a leap year. E Ilkes either black
or brown colour. The one who like red colour born before the one who like green colour. H born ina leap year but not after either AorD.A
orF does not like red colour. Neither G nor F likes green colour. Neither G nor C likes brown colour. C does not bornmedlately before the
one who like S|Iver colour nor black colour. G_gggs not like pink colour and H does not like red colour. The one who like silver colour born in
1993. Only two person born between the one who like sll_lygr colour and D, who like orange colour‘ E neither likes bro wn gglour nor red
colour. Number of person born before Dis equal to the number of person born after the one who like ¥ffafoon colour. The one who like pink
colour born in a leap year and immediately before E. C born before H. —_ -
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A " B means A is neither smaller than nor equal to B g -
A (B meansAis neither?qual to nor greater than B £ &

A # B means A is neither smaller than nor greaterthan B = &
A % B means A is not smallerthanB = —a

A * B means A is not greater than B é E———

-

Which of the following conclusion is/are follows: A" Bl T ABH AN BT ¢ 3R T & X §

Statemeﬂ’cg: * @ g(BWHﬁ%AHH’fB#W%ﬁTH@TWW
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i TR R & & Fa7 T s R 38

A. Only Il follows

B. Only lll follows

C Only | follows
None follows

/ None of these



A N B means A is neither smaller than nor equal to B
A ( B means A is neither equal to nor greater than B

—
—

A # B means A is neither smaller than nor greater than B /—>
A % B means A is not smallerthanB —>

A * B means A is not greater than B 4—@

Which of the following conclusion is/are follows:

Statements:

C(Z;Z*N;NAEE%Y

onclusions:
=
(1.) Y N‘y

Il.
Il
A.

(N
C—
Z*Y
Only 1l follows

B. _ Only I follows

/ Only | and Il follows

D.
E.

All follows
None of these

—

O

ANBEHT 3 A BA o Al BIcT g AR o & R &
g(swm&%AHa’rBé:W%maﬁrmasT

AHBFT IT g ABIT T BT g 3R T grasr g
A%BaRT 37 A BH BT Jel g
A*Bal AT & A, B &1 A8l &

fof@a & O aila ara sy Aafafaa &8



A~ B means A is neither smaller than nor equal toB —2

A ( B means A is neither equal to nor greater than B

A # B means A is neither smaller than nor greater than B &2
A % B means A is not smaller than B@—?

A * B means A is not greater thanB &——

Which of the following conclusion is/are follows: A" Bl T ABH AN BT ¢ 3R T & X §
Statements: A(BHT 3T § AT o Boh sRIeR ¢ 3R o & 399 31

YN
¥ U,U(R,S(Z,ZAY AHBFT HT T ABY 7 A oler ¥ 3 T & gar ¥

Conclusions:

s A%BH 3T A BY Ber gt &
S_T/.,Hy A*Bal AT & A, B &1 A8l &
N 2

fof@a & O aila ara sy Aafafaa &8

Only Il follows
Only | follows
None follows
None of these

Only Il follows @




Following the given steps, a six letter meaningful word can be formed (six different letters). At
least two letters were written between R and L. N and A were not written next to each other. L
was written at an end. E was written second from the left end. INwas written to the immediate
left of T. At least one letter is written to the right of A. How many letters were there between N
and L?

fCU 1T RO &7 9Tl R 8T, Teh Sg 318N HT TS s (B TAI-3TeA9T 36
AT ST TRl &1 R 3R L & &FT A F A al 38R o 9w I N 3R A t&F gl
& ST H Gl o 9T | of 3d H for@r a1l E Y 90 B8R & gl T W fel@n
T 47| MR T & Sk § for@r T UT| A & SRl 3R A ¥ HHA Ush 3H&R for@r
T a7l N3R L& &g fhaer 3R 9?

wWwN =

A.
B.
C.
D. More than 3

/ Can’t be determined as more than one meaningful word can be formed
———— S— — —




]jollowing the given steps, a six letter hgami_ngful word can be formed (six different letters). At
least two letters were written between R and L. N and A were not written next to each other. L
was written at an end. E was written second from the left end. Nwas written to the immediate
left of T. At least one_Ietter is written to the right of A. How many letters were there between N
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Nine persons were born on three different dates i.e. 1%, 4™ and 6™ in three dlfferent months i.e. May, June
and July. W and S were born on different dates.{P, who likes blue colour and the p person who likes black
colour were born on same date. Q was born on 1% June just before the person who likes red. The person
who I|kes brown was bo born after the person who I|kes_mk The person who was born last likes purple. U who
does not like cherry was born before X. Three person were born between S and the person who likes cherry,
who was born after S. T does not like cherry and purple. W was born just t before R, who does not like_cherry
and purple. V was born jL just after the person who likes white. The person who likes black was born just
before the person who likes yellow. Two person were born between T and the person who likes white, who

was born before T. —
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Q. The person who was born on 15t July likes which colour ?

/D? Black

Blue
C. Brown
D. Yellow
E. Pink

Q. How many person born after T ?

A. Two —_
B. Three
Mour
D. Five
E. Six
- I o

Q. How many person were born between the person who likes white and R ?
A. Two
B. Six

Five

MOUF

E. None of these
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